Complete the chart shown below and sketch one full cycle of this function
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Write both a cosine and sine function to describe the graph shown - ,




The Canadian National Historic
Windpower Centre, at Etzikom, Alberta,

reaches its minimum height of 8 m above
the ground at a time of 2 s. Its maximum

has various styles of windmills on display. ,z p’/" l‘& 11
The tip of the blade of one windmill

height is 22 m above the ground. The tip

blade after 4 s?
¢) For how long is the tip of the blade

of the blade rotates 12 times per minute. ls
a) Write a sine or a cosine function to
model the rotation of the tip of the blade.
b) What is the height of the tip of the
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